
SAP ABAP table TJFREVUR {Rev.Def.Account Determination 'Non-Billed Receivables'}

TJFREVUR

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KTOPL [CHAR (4)]

AKONT [CHAR (10)]

SAKUR [CHAR (10)]

SAKIR [CHAR (10)]

SAKSD [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 TJFREVUR-AKONT = SKA1-SAKNR 

0..N
1

 TJFREVUR-SAKIR = SKA1-SAKNR 
0..N

0..N  TJFREVUR-SAKSD = SKA1-SAKNR 0..N

0..N  TJFREVUR-SAKUR = SKA1-SAKNR 
0..N

0..N T000

MANDT [CLNT (3)]
 TJFREVUR-MANDT = T000-MANDT 

0..N
1

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 TJFREVUR-KTOPL = T004-KTOPL 

0..N

1

T681Z

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

 TJFREVUR-KAPPL = T681Z-KAPPL 

0..N

0..N


